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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1-  Some vegetarians are not just indifferent to meat; they have a/an ------------ toward it.
1) immorality 2) tendency 3) antipathy 4) commitment

2- A recent study shows that the prevalence and sometimes misuse of cell phones and
computers has led to a/an --—-------- in some people about the benefits of technology.
1) ambivalence 2) distinction 3) encouragement  4) compromise

3- My niece has a ----—--=---- imagination. She can turn a tree and a stick into a castle and a
wand and spend hours in her fairy kingdom.

1) vacuous 2) vivid 3) cyclical 4) careless
4-  The singer's mellifluous voice kept the audience --—--—------ for two hours.
1) disputed 2) disregarded 3) frustrated 4) enchanted

himself from the destruective hole he now finds himself in.

1) evade 2) prevent 3) deprive 4) extricate

6-  Logan has been working long hours, but that is no excuse for him to be --—--meeev to
customers.
l) ingenious 2) intimate 3) discourteous 4) redundant

7-  Although he was found ------ennnv , he continued to assert that he was innocent and had
been falsely indicted.
1) critical 2) guilty 3) problematic 4) gloomy

8-  The old sailor's skin had become wrinkled and --
sun and the wind.

--- from years of being out in the

1) desiccated 2) emerged 3) intensified 4) exposed

9-  The promoters conducted a survey to study the -------- ---= of the project before investing
their money in it.
| ) impression 2) visibility 3) feasibility 4) preparation

10- That is t00 -----mnummv an explanation for this strange phenomenon—I am sure there's

something more complex at work.
1) simplistic 2) lengthy 3) profound 4) initial
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Some researchers investigated the effect of listening to music by Mozart (11) ===eeeeem-x
spatial reasoning. and the results were published in Nature. They gave research
participants one of three standard tests of abstract spatial reasoning (12) =—---eeeeeee
each of three listening conditions: the Sonata for Two Pianos in D major, K. 448 by
Mozart, verbal relaxation instructions, and (13) ---===, They found a temporary

enhancement of spatial-reasoning, (14) ----------—- spatial-reasoning subtasks of the
Stanford-Binet 1Q test. Rauscher et al. show that (15) ========—--- the music¢ condition is
only temporary.

11- 1)in 2) for 3) of 4)on

12- 1) having experienced 2) afier they had experienced
3) to be experiencing 4) to experience

13- 1)silence 2) was silent 3) there was silent  4) of silence

14- 1) then measured 2) that was measured
3) as measured by 4) to be measuring

15- 1) the effect of the enhancement of
2) the enhancing effect of
3) enhances the effect of
4) is enhanced by

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

The amount of data to be handled in a database that contains spatial sources such as
satellite and aircraft imagery along with maps is enormous, particularly if the data
covers a large geographical region. Quite clearly, therefore, thought has to be given to
efficient means by which the data type can be stored and retrieved. manipulated,
analyzed and displayed. This is the role of the geographic information system (GIS).
Like its commercial counterparts, the management information system (MIS). the GIS
is designed to carry out operations on the data stored in the database, according to a set
of user specification, without the user needing to be knowledgeable about how the data
is stored and what data handling and processing procedures of the nature and the
volume of data involved in a GIS. Many of the MIS concepts developed for data base
management system cannot be transferred directly to GIS design, although they do
provide guidelines. Instead new design concepts have been needed. incorporating the
sorts of operation normally carried out with spatial data. and attention has had to be
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given to efficient coding techniques to facilitate searching through the large numbers
of maps and images often involved.

To understand the sorts of spatial data manipulation operations of importance in
GIS one must take the view of the resource manager rather than the data analyst.
Whereas the latter is concerned with image reconstruction, filtering, transformation
and classification, the manager is interested in some GIS data operations. These
operations provide pieces of information from which management strategies and the
like can be inferred. Certainly, to be able to implement many, if not most, of these a
substantial amount of image processing procedures may be required. However, as GIS
technology progresses, it is expected that the actual image processing being performed
would be transparent to the resource manager: the role of the data analyst will then be
in part of the GIS design.

What does the passage mainly discuss?

1) The analogous structures of GIS and MIS

2) The merits and demerits GIS brings to data manipulation

3) A system processing spatial and geographical data

4) The efficient technological advancements in coding techniques

According to the passage, which of the following is NOT true?

1) A data analyst’s role is likely to be partially included in GIS design.

2) The size of geographical regions has no effects on the processing of information.

3) How knowledgeable the user is regarding the storage and processing of data is of
little importance in GIS.

4) Some of the concepts implemented in GIS design originate from its commercial

counterpart.
The word “which” in paragraph 2 refers to -—-—----,
1) operations 2) image processing procedures
3) management strategies 4) pieces of information
Why does the author mention the resource manager and data analyst in the second
paragraph?

1) To contrast their responsibilities in geographic information systems

2) To highlight their contribution to the improvement of GIS technology

3) To justify the importance of GIS procedures and management strategies
4) To imply how one must grasp the operations on spatial data manipulation
The author’s attitude toward GIS data operations could best be described as -
1) pessimistic 2) informative 3) ironic 4) candid

PASSAGE 2

In prineiple, remote sensing systems could measure energy emanating from the earth’s
surface in any sensible range of wavelengths which is the ultimate goal of EMR project.
However, current technological considerations, the selective opacity of the earth’s
atmosphere scattering from atmospheric particulates and the significance of the data
provided exclude certain wavelengths.

The significance of these different ranges lies in the interaction mechanism between
the electromagnetic radiation and the materials being examined. In the infrared range
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the energy measured by a sensor depends upon properties such as the pigmentation.
moisture content, and cellular structure of vegetation, the mineral and moisture contents
of soils and the level of sedimentation of water. At the thermal end of the infrared
range. it is heat capacity and other thermal properties of the surface and near subsurface
that control the strength of radiation detected. In the microwave range. using active
imaging systems based upon radar techniques, the roughness of the cover type being
detected and its electrical properties determined the magnitude of the reflected signal.
In the range 20 to 60 GHZ, atmospheric oxygen and water vapor have a strong effect on
transmission and thus can be inferred by measurements in that range. Thus each range
of wavelength has its own strengths in terms of the information it can contribute to the
remote sensing process. Consequently, we find systems available that are optimized and
operate in particular spectral ranges.

What is the best title for the passage?

1) Electrical Characteristics of Different Wavelengths

2) Wavelength Ranges in Remote Sensing

3) The Optimized Mechanism of Measuring Wavelengths

4) Strengths of Remote Sensing Systems

The word “opacity” in the first paragraph is closest in meaning to ----------,

1) unclearness 2) serenity 3) increase 4) fascination
According to paragraph 2, the energy measured in the infrared range is affected by all of
the following properties EXCEPT
1) color

2) certain contents of soils

3) salinity of water

4) cellular structure of plants
Optimization of remote sensing systems --—--------,

1) aids operating in certain spectral wavelength ranges

2) impedes measuring different wavelength ranges

3) disseminates particular wavelengths to affect transmission

4) analyzes information obtained from various ranges of wavelength
The word “it” in paragraph 2 refers to ---------- "

1) each range of wavelength

2) the information

3) the remote sensing process

4) that range

PASSAGE 3

The growing number of satellite missions to Low Earth Orbit (LEO) is evidence of a
maturing industry, where a multitude of new applications and commercial needs are
being fulfilled. However, this rapidly growing industry also imposes challenges,
namely congestion, increase space debris and the ever increasing need for space traffic
management. The growing number of space missions and the space junk left behind if
left unchecked can have catastrophic consequences resulting in cascading impact of
space debris, known as the “Kessler Effect”™ that ultimately cuts off access to LEO and
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becomes a barrier to space. Use of specialized space robots to rendezvous, capture and
dock with satellites to service them is viable for satellites that were designed for this
capability. The vast majority of spacecraft were not designed to be captured or
serviced in this manner and hence the rendezvous and capture maneuvers pose risks.

Tether technology enables for capture, deorbit and boosting of satellites in orbit.
The advantage of a tether is that the target satellite can be kept at a distance at first
from the main valuable servicing satellite before performing preparatory service,
repair or deconstruction work. With the target satellite being at distance, it could be
carefully surveyed to determine whether components or substances are spilling or
prone to dispersion upon contact. The tether may be used to bring the two satellites
where one may be derelict to the same orbit, relative veloeity and altitude. Thus
tethering target satellite with the service satellite shows some important advantage to
satellite servicing, orbit debris capture and clean-up. However, the remaining
challenge is how to affix the tether to a target satellite that may have never been
designed for servicing, that may already be damaged or is disintegrating due to
prolonged corrosive forces in Earth orbit.

The passage primarily serves to

1) highlight the necessity to regulate space explorations

2) introduce a problem and a technology that can relieve it

3) present satellite missions’ growth in LEO as evidence of a maturing industry

4) persuade readers that a thriving industry inadvertently becomes a barrier to space
travel

Which of the following could NOT be considered as evidence of the need for space traffic

management?

1) The Kessler Effect

2) Increase of space missions

3) Breakthroughs in the space industry

4) Emergence of space robots

Which of the following best deseribes the function of the last sentence in paragraph 1?

1) Stating a challenge

2) Providing an example

3) Clarifying a solution

4) Expressing an opinion

According to the passage, all of the following statements are true EXCEPT that —--eeeeev,

1) not all satellites can benefit from tether technology owing to their traditional design

2) keeping the target satellite at a distance for examination is a merit offered by a
tether

3) preparatory service given to a satellite is the initial step in tethering

4) not addressing the Kessler effect can lead to enormous space debris

The word “corrosive” in the last line means 3

1) contributing 2) fortifying 3) encircling 4) damaging



https://saednews.com/

saednews.com

Y axio S801A (MNeY) o5 o 2Ll i OleMb! gl 3 599 ) (i

29 GBSl psidi g0

fauild oo yivawlin gladlis 4 slp 1) jatio (wlade 0,50 -T)
Ak Al 5ol g las Cge o aakais ()
Al 4l 2 e ealad ) adlaia (¥
sl azil 2 g s g o adlate (T
Al a3l S e 5 ledlial g Il abll e 5o adlats (F
g o0 08 (K a2 4 K) o (Fohan oz o S 30k (N ok I Jol> gl use oYY
Oty ) (F oy S (¥ oy o8 (Y ! & Jloa ()
Wi dilio b (s 3 o ol B Al oad a3d 5 15 48 o Voo jlgp gLyl 45 I seys -~ T
flanl 009 yio
\oo (¥ Voo (Y Yoo (V foo ()
fowsl lp oo b (Blai 4z olp wlio s bl 2lgp 5 0 -TF
i () e Ja3 b (g lga doglas ) aSly bl ()
e (i g dges boghas TS g8 y0 odly Ll (Y
SAUBEE bt o, P YR i &) Cani 45 ol (¥
Ll 5 Sz (F
Coll b ylSoly 3 Splas ( led uSe 30 Gt sl slplsdle i)l slbals olpme Sal5 oy -YO
sl e (5,10 p el (olaio (RBlagSS

2 5 el sl ity el (Y Omys® SplS alald 1l ()
o glis,| als (F Uaty8d SelS alold  fals (Y
fomms ko ya ALB,C bl RGB &) Glaize p ) JSO gollae -YF
3 (Y88,0,0) oliay: sdadun:sdis3 )
A loj g yad shaow colanws (¥
(Y8,Y85,°) ($1039ye8 wiehs ol (

.\.-j..u‘L-u-' a (Y
(Yoa, Y48, Y28) - ol 30,8 (

('Ab‘ocvéé) 6'0)’,)-:5 -Ol_o_.-d t-L_-é.\d (f

jyon
(5,Y28,2)

(240,Y83) (o, Y04,Y08)

13,18 518 owis Jolf alols g9y » olad pw)90 0 pld axio )> TV
oo F ey il 59 o 455 Juboay
318 518 (58 Solidig 50 pe S Lo (F
..))'é ¢.:f,3.3 QL_.—:’.A}l a 61;...5 (T'
By ai 90 3l peez alsli L oLl (F


https://saednews.com/

saednews.com

A axio BOTA (1Y) uS = oLl i SleMb! gl 3 588 51 hiuw

Tl e &5 OleMbl cal> alan o wSe 10 5590 plud

X SV (7 Y oSG 0

ol alold  ueSas (F Pl alals (¥

Tl (ot S 0105 (o (Update) j9) & 1) 4l 6 sbpleislo Y padlys & 90,8
ol i 8,935 SloSs (T aad S jlsa slaSe ()

o True Ortho .S« (f 043 Ortho sla .Se (Y

€9l go Sl s pIAS 4 aladi 98 WSV, DS

ol 93 53 ) Su5)5 sl ()

o8 & Sud alads g0 plas )| SSI(Y

o) Slalie i (0 alais 98 Glodanis Slaises Oglai (Y

e Slaiie plaey )5 daii g3 Slhas Slaiss S| (F

£ g g0 013 WigRer sl s 1 K5 5058 (y90le S Ss g (Jgare () S uSe 0 bl
s 4§ ST (Y & rweS 1> i ()

olews ol (F Sdis solows (T

Camnnz yhag )0 o/ F 5l 5aS slazge Jgb )0 )0 pomSis Cudgune (p 5 ol
28 gm 0355 s 5 i by 551 535 A sl (O

2l N04>9 59, P j0 5 b Ko LB (Y

Dyl 8gmg o] die; L e o S s (7

Saulig0 R33! 59351 AIaS 1301 U polad (ke KaS & adsle £l ) 2 yiiunl b

Pl alols (Y e glas, ()

Seb Glogan laga (F lsa 3L (7

i ol 5 IS s iy S5 51 156 105 il

Grpsd e SplS alols og I (Y olite s asgly 93 5l (gl S ()
ox g8, D35 by (F Fle Sjg0ns (gl pmSe (7

€219 yiagili Foo—YB00 a3gume ;3 gl WUjL p (55l 4 I gy,

sals ()

ial3dl (Y

Hbor M8 s e Job )0 LS (F

il ge Gl s g a8 ol (F

s gy il 25 33 Yl 2 29 38 1! Slonsl o
Qs AWl )y mals ()

Pl alold o (Y
p&.{,od&qu@&&}s)ﬁ,b@uoo”ﬂ(r

iz 90 alold 4y Sl S 35 0 90 alold f0g iy (F

-YA

¥4

-F\

-FY

-¥Y

-¥F¥

-¥Fo

e td


https://saednews.com/

saednews.com

{ axio 801A (NeY) oS = oLl o OleMb! gl g 599 31 Slxiuw

£33 )5 o0 i 385 (5 lere 4z b SPUT oS G S0 SIS juad -FY

o5l ek Sy 3 Cugy BB LS g ol ()
lalamd W lace agly (¥

JSs ol (Y
Se slal (F
faroligo 4z 1) pdamee pdan 2 (595 pdaw JUAS! pitasaw  —FA
Generalization system (Y Steroidal center (\
Map design system (f Map projection (¥
Tz 2lgp o8e 795 (Fi9 (2 rots 11 T0000 SIS g9 glaald e jplia sy - FA
woys PO poye Sy (Y Soys PO Jobo (ilgy ()
Sglize jlg, glis )l (F Siglaie  JelS alols (Y
ol plas’ Jlio JSG 50 92193 s )l p ppad (o )8 ploj  -0¢
ad
s (¥

2 5l am (Y

T oyt (F

.'QL_«JQJ ’)lﬂi

ol 0Ll ol psual Wb jly Cawl p ) Djgeds )0 SO 0 eSS Voo Wlpei Jlglyd auje Jeas  -0)
Ol plas Ly i Ol yod

Olidb sgux> | pA—FY  FA=Yo YI-VY VF-VF yy_vyq
Silglys Iy A FY Yy A

7AY ()
YYE (Y
Y VY (Y
Ay oY (F


https://saednews.com/

saednews.com

Ve axio 801A NeY) S o Ll i SleMb! gl § 539 51 Sxiuw

VL K 1 PSR JE ROV U0 11 JOE TN PRI | PRCPSYCK - RN UL 33 L1 DO XS RPCIPIPR WO JCONPRCH JUC IR |

Yol plas’ 2 399
Olibalold | <YYo Yo-Yd YA-YTo Yo-Td 2Yd
ol A 'a 4 A \$
YAY (A
f0T (Y
\ L RAS
oY (f

P b el Jg a2l FA (uilyly 9 Jog aoly Yo il b Co sy aue8 gl (o5 0 )Ull 350 39 -OY
Sl Jog 92y Y 51 yiden oy Sgw Jleis!

_ ~~ —~~
= = =

~
-“

r
Sl 15 355 ol ot fy P(X=F) = ZP(X =) gl 2055 b ulesl o2 39 -0

Jr o

Y (Y

§ (¥

% (f

dwlxe Var(X+Y)=1¥ g Var(Y)=F,Var(X)=A polic Y § X Jolai piio g0 Jis! ali jo -08

fal plaS < Var(-::X FYY) ailoss

fA Q)

¥4 (Y

AY (Y
oY (F


https://saednews.com/

saednews.com

VY axido S01A (MNeY) o5 o 2Ll i OleMb! gl 3 599 ) (i

Al 0 1Y Jlre Ul il g PO Ol i cpdilis el 0318 plail Aleoliie syl  Jee)l walusaw! ol S —0F
{C AR - bl Pl Pl Ol O (90! Sy b ol

(s°_/°"/‘:,A = o,affv) Tigt g 4 prohy (ylasiliia e )3 i aunl 0d i 38 4185 10 VF b iy 0y03 Jilos
YOV Q)
YO/A (¥
YEY (7
YV, ¥ (F
S plaS E(Y) ol 35 Sojgots ob | Jhiums B3lai puiia 90 plgi Jlozol pli -BY

Y ¥ 7

]

0/" o 0/“'
of oAV B

e

YV ()
Yy (Y
YF(r
A (F

T a1y s @ISl b Jgie )L P ST el T G ¥ e 0pi B ik G B glanes 0 -0A

09 o0 s lie T S g die JU Y 30,8 )L Y Jleio!l plusl (e
£YO
. (\
Yaay
£YO
YSYA
FYO
YASY
£YO
e (f
DVAY

O,lg J AF j9) SO 0 1 AS 0 W Wied o oy 3,1y 4T o013 5l Boys Fo lawgie jeb 4 -04

(s‘_"’/‘;r = O,AfA) CULT o 5 T LA PO JBlas Jleio! plus b g olfig 8

5, 0YF ()
;oY (Y
o NAY (F
o NFA (F

o


https://saednews.com/

saednews.com

\Y axio S801A (NeY) oS = oLl i SleMb! gl 3 599 j1 lxiaw

\ \
S e Py > X2 1) iy oy Jlaso! SISz @03 s Y 5X 51 5

r

—4Xy ; 0<X<), o<y <)
f(x,y)=14F¥
5 bl plu yo

- —

2 3l<>le >4
=5

— (F
\F

Sl plas’ E, AT il F,,,,,'A=r,9v S
o/ FYE ()
o BYY (Y
VYE (r
\FY (F
foaw! padgl BB X o bawgl Y Ol ki jl )0 i 3 ) Olpadi Jauz j0  —FY

x[W yvyeo W W V¥
v YA W ) Y

Ad (A
AY (Y
(Y
QF (F
r
sl P15 X 036 3o £ gaze (X" +—=1)° &jls bawy j3  -FY
X
AYE (A
arF (v
Yo ¥A (¥

\oAo (F
\

Sl pla B(X) = X" =X, F(X) = X1OBY ol 35 ol smie 3,95 p alaii Job  —FF
Y (\
B (Y
'3‘/Y ("
(),"a (?


https://saednews.com/

saednews.com

I axio 801A (NeY) oS = oLl i SleMb! gl 3 599 j1 lxiaw

n

Z(—‘)mi
. i=)
Cowwl alas lim x, SL X, = R
’ nsm o \/n'+\+\/fnY-\ "

70

COSr X

Y

adaulo b ali o -#7
V+s8in' X

R r(%)-rf'(%) Jekis £(x) =

Y
Y (Y
¥ (v
v
D18 (f
Y
§anol oS r i Jol> PV
o VX+1+/0X+)
V)
\a
Y
'
¥
\0
\§
\0

(x
r

(f

Sl A5 ol ik a2z sl aidly (31399 LY yoxo Jo> ¥ =AX g ¥ =X imio 99 ds Sgue zhaw  —FA
YT
—_ (\
5
V7
4 1
5

AT


https://saednews.com/

saednews.com

V¥ axao S01A (MNeY) o5 o 2Ll i OleMb! gl 3 599 ) (i
oz oz rx' +xy
Sl AT Y = =), X =Y Ak )3 XY ks BT o ukie 49 il 50 P
ox oy x—-Yy
v
—
Y
v
T
[a]
Y
I
= (F
?

Ccant plas X' + ¥ 2" =P L 8L (X, y,2) = YX<PY+Z -8 &b jlakel it -V
Y QO
A (Y
q(r
Vo (F

fCuml plaS (7 = F axiw g z=xv+yY W9y 4 dgaie x> Y
Yy ()
AT (Y
F (Y
fr (f

ol o105 XD i X (g09n0 S la5 sy F(X) = € SINX b das jo VY

v
——
\
iy (‘,
Y
\

Yo
\

a— (f

\o


https://saednews.com/

saednews.com

V0 axae S01A (MNeY) o5 o 2Ll i OleMb! gl 3 599 ) (i
Y =\ ¢
sl o1aS A7) s 5ilo 098 (yaius 9 paun sl 3 aBlgslys A=[o0 P V| 81 vy
) -Y o
\
v
\
—— (\'
‘.
Y
-
Y
—="(f
r

Jol 4sob Jlaasi e 2! 8 )38 g0 (150) e 31 XY =¥ = X" — X fumailyiss dIlan sl fionia 51 (Ko -VF
S oo glad Jgb plas L 1,
e
ye (Y
Y(r
Y (F
2,15 3929 F Jab b 599 di> wcud JU A g iy # Glylo a8 55 G155 0 -Vd
7\
Y (Y
A (Y
q (F

i j S 5 57855, 5087)

03 o8 o0 JSB IailS09) (559098 90905 Wl B pluS Aot 30 (og)) (2 oy S V7
Lo jilin Jlad fisw o Loy, (60 g ()
e &3lge 30 12me (slse sloo s b3 (Y
e &3lga )3 (5 )lme 4> )3 ooy (5,105 g (T
lap] sazme sl jd g (0 dlse )3 e IS0 (5 |88 g (F
€210 (g yiiont o5 Aazey IS 3G (g0 ol M0 51 ol (KuigiSish g0 anly plas’ VY

03,5507 55 093 (F 352 olnl ety O
gl a5 Jlezsla 1y (F oS ezl oty (¥

€300 9929 ol Cdlioipms 9 eulidimme pless b ool pl G ELAALTT (o LS1aa 2 i ploe b3l 4z -VA
Flos 5 2eir ATl slaal (Y olp! slazmio (oo Soadga ()

Rl Sl S Gy 5l 595 (F SF e olpl o LS (sl SuSS slacs! (Y


https://saednews.com/

saednews.com

V9 axivo 801A (1Y) 05 = Ll yi> LMol pusns 3 398 31 i
ilouds adly ol ! Aol 3blo plas 1o 195 (9 yaawy —Y4

yo o 455 §y0 5 Jlad (Y Sl g 0l md> ()

Sl U leels 51 (F Oliwje Az >l (¥
el 00 Sl a8 plaS 13l i o jligads 10 pid o> —Ae

S o Slige; o (¥ e glaas paal YL ()

<l jlead 7,1 glanle glaass, (F Lo msaille Cijglns g Loz o555 (F
Pl Sl & poie g 009 JIlE plaand (F051g0 wil B o) g (Ll i gjald luS 50 i yiar —A)

o o0 S £9i

Jogd - G (F o) - el (Y Yol (Y Jei - Glile O
Tz slailS0g) G008 & o Jlxsy sl8e )0 (858 Ty 0 Ll Lol Cde -AY

Gt 00 3w pbyr (e el ()

Fas ol ol e e (F

slaileag, b @ S Jlasu bz ok b (69,5 (7

P 0,5 s 3 350 Shigus; ales 318 (F
03,10 301 (pg s 3ol K1) (s 93l 533 piamnns b JalS' Gkl pute (1,59 000 4 plas’ —AY

39 e (¥ 5o 29, (¥ 39 kallls (¥ 39,4k ()
13,10 AU 4z (B3 c0 S pati il G leid b 0 Ol ol o e jlas Jas  —AF

e eyl (F S (7 o Y (Y & 970 el ()
Tkt glS IS ¢ )2 (5L sduliw b SIS plas —AD

Ol - B (F Sy - S (T 38-a (Y S-Sy ea ()
il 390 plaS Lol LS 10 sudicand 515 Hlaie —AP

Alll 4l g (F Al Ligili dulgs (Y Al gl sy (Y oAl ddgl adgs (A
3,10 51,8 o ldlyra (56 5l Slodgame 4z 10 IS ()94 plpae (0 2eS -AY

e g Jlad (dad (F Fal e (¥ fo oy (¥ Yo=Yo b,e ()
Sl pIAS D9 o Carasds 30 31 45 12 £950 Eacl a5 Lole oy pte —AA

ohb(r Gr s, ()

S oS oo oo SL (F Sl dxd e sl (Y
sl g1 )0 costde 4z Silo plds &2l AR

ok 5 olaE sleazd, ooe Jizowe (Y o8¢ sloo yoy pales dil> ()

A>ly pinisS] 90 g BaS Lo (F e slee oy I il dal> (Y
(i (aema Jolge blio )0 o) Ologrge S0 5alssl ploe (opaamy cde -0

shaee sla L8 s (F o) Clhogas (V1 eaSogams Jalge (F boe g95 (1
foaw! yadas paw plas jo Canl il p Cwle  -A)

6 (f g (¥ ol V- S pgjem sla S (0
290 (s j E gl Bl Cuely Jole plas -AY

(et ; sla 25 (F bl o (¥ sol®! Jolge (Y Jege Caad ()


https://saednews.com/

saednews.com

W axio 801A (11eY) oS = oLl i SleMb! piuw 3 589 31 Shxiow
fomwl S leuds Al> 30 30 pow plas -AY
obbea (¥ ! ()
sloyl> oLl 5 sla 5 (F Slabw (¥
S 53033 38 COyp 13m0 Jolai 53 Jole plas’ —AF
Slaaisl glajls (F Oeaj 9 (25 (Y Famgd (¥ Ll ;s ()
€01 518 (S 399a5T e 5 Jlawiy] 80900 53 (K 59lesT ledl plas’ -28
S (F alia (F ogill; (¥ Jailly ()
by 3 s sl
99000 (raatd Slolge 4 oLl j9dS )8 13 b (are dlinl 47
Cuadge g (Slo> (glad (¥ oty 3 Canadga ()
g 3 Sore (i (F ol 588 5 Conaz Gl5es (T
ol slanal g9 a2 0ulBO LA Bad o0 (raati (Fgw 9 Jilide 3 Slas b o5 o LaS el -AY
e (F sl (F JSadlazcs (¥ 50
ol o2 y> 9 03gdomo Al (5110 ol H8 ( Fil 51 -AA
sddaislu 0dgae S g Jeild sdguma G (V o> G g odgdme K ()
2> 39 3 adgazes S (F (B> 03guzme K 5 SPlE s3gae G (T
falind (Tl b | (et 4 )0 0030 0895 9 (098 slBog T (ke Juilo sla el 0 -4
adl> g 35 0 Olea (F F Sy (¥ adl> (¥ e 3 ()
Sl s 390 p1AT L S 59l g1 S L din 43 (lidd (0,50 0 5 e
WS e Jas slailais Ojs0a galatil 5 SlgilS oL 55 8 ()
AL e Jas ollad O jgon golaisl s Folgls oL g0 e (Y
S o Jar olhd O golatdl gLl g gladlais O jgoas ( Folgils slaall (T
A oo Joo sladlais Ojpon goladll slaalSl 5 ellad Oy SOl slaelL (F
aml 350 plAS AZLAS o 3 Wiz (b (1 p] 30 e (Eledal Olaa (5)1)8 5 )0 Jole (e )Y
el 3k g Olaws Jald 1 (555 50 sLad ()
! (Bnns) (Koo 3 ool glad (Y
RN S9>g ohsds b oand alia (Y
el S5l Gyl ) Pl jlpal SISl g SB35k - (s las slad (F
(i 4980 890 30 ol ! G4 Sy )Y

S S o 5l AL L golaidll elaza] plal 0 o (g JSS ()

S 3 (215 8log AT L e slail sty (¥

g, olaSl g (glopute (Fuj G585 b 50 polie Joli (F

St polie g bbasgacna slod Slae Cugli b (S5l davg (o dhngy oot (00 8505 (F


https://saednews.com/

saednews.com

VA axio S801A NeY) oS o Ll i SleMb! gl 3 589 31 Shxiaw

€2,00 4T Jalge 0105 (595 1 e (Slebl phr Slallinn )3 (umlSSH (sladl i (S8 oy

Sy 0gad g (gilate et e 5,3, Ll ()

slal glilan 5 elaia! punig)lo o Jame aduls (¥

@batdl glapi g b adldy LIS gla g, (T

) kS g (gloe Sl golandl alge (F

a4y 55 pIAS (6 el pmnnnn polis

o Sy e el (5La8  pagar slad g i e ()

ey Sl 5 g Sldle 5 2 )lse Glugola (5 d So pae plla (Sl | (Y

A S pda o Sl g lazal) jal o Jlo s sl (o (S Jiig Lo callyj ads (T

selezal Loy s sates slacled pllas S it o il Eulas casle s Bl o Lol 5 Jlo ailialys oi(F

! 25 Z5Mamo! plaS Jolao s g 50 0519

AW (Y s yole ()

Sl (F sl (7

T (Sig 9 50al) Sy g Sl (S 9 (2 ok 4553l Oladas 5o

o 3 355 5l salazul gl CtS (Y slalds cuas ()

o ks g kol L a8 (F S5 a0 SiS (7

80 o0 JuSL 1) (55,9L8 (U )8 3 otens (2 yiion (o8 31 s IS 1088 VFAY (6559l (g ol oo (polisl
s )| (¥ Sl ()

blse o) (F o 2 (7

£5,18.0,Li £ gudg0 pI0S & oLt = S50 Il

ol gt 5 b et glag S g Lelse asgame ()

golaidl il plo 5 s jlileis clag g Lelye acgama (Y

28 jlail gl g goladdl laleta lagye g Jalge acgerma (F

bl jlail gl 5 gelaia! laileda by g Jalse asgama (F

Ay i Ao olgs g S S ISl s )| DMl pgus >y 5l ey (5510 00 40 Bl £ 95 plaS
fal A2l A T Sl 33 (55,9l )0 YT niile Jauo! 3 3015 g 0gwil ddgi & 9 a9

Wy gl slacs = (Y o o pilla laaaly ()

=) ool oS 3 (F Caaio g CulS slaasly (T

i drwgh Jlo )0 g aiilidnngi (gla 9S54t — (tlinwg) July) (A (558U udaio s ja b o plas
S5 Joe 39 059> Joua (¥ 3> Jas o Komgy Joo ()

gy e gal i - 55 e Jaa (F (g Joe o S5 Jaw (7

3,10 (g yuiuns Z19)5 Seg? 9 Ol 9l 9 Gl sla Ll j3 (KB 2ol plas

Plyma> (¥ Pzl ()

g0 (F sk

—\e¥

—\.¥

=140

-\+¥

ey

-1-4

-1\

-


https://saednews.com/

saednews.com

18 axio S01A M) o5 o 2Ll i OleMb! gl 3 99 ) i
£3,13 0,LiN £ o190 IS &1 1y 13 b g aiuslgs olusl  pliwsy SV gazo (b yide Gaisdiwd —NY
ik @ luelil> (¥ Sk gt O
il (B, daa (¥ b sl (¥
faiid plAS (o) (5 3251 Cand B (patd (GBARG0 (0 Yt -NIT
de>ge Sleds e ) C...u...’(\‘ alols .@';”,J Q)
Ot ) S o o yoead Canlil (F Oyt it o umlol> (Y
$06 5 o0 515 s
LSa Y 5l S BY (X JESa ) 51 2 b o800
JESa 0,0 5105815 oY (F SESa ¥ 5L RS 5 YeY
2,10 0, L0l £ pdg0 plas & SOl (55 )3kl parde -11D

4,50 50§58 odg le 52 aas (7 4550 0 b (slaosS 5 pgan jlesliud pas ()
ac 30 3l )15 5 as 50 50 modlyd §l oS solaiil pae (F  ac 3 il 2 )15 slooolys jf (s 85T solazul pae (Y

‘! (Continuous field) aivsy zdaw O g0 GIS ;o a0 ¥ olas
OtesLa (Y Sugb, (
okl (F wlsag, (¥

3900 gl Silogil O g0 (5510 4 gaadd o1, Sliver glas ;lgi 0 3 plas b
e 2jlee Colus Plas i (

bli le aholi 2510 ppai (Y

e 4 azgi b 2)lse (ol alial s Gy i (F

ool b bl )l ety (5)lee ombaw ailin] s i (F

Tl Jiawbio B9 S eyl yaanadli' & 5L 45 ouznny AL g3l 098 ) it
Automate digitizing (\

Manual digitizing (¥

On-screen digitizing (¥

Scanning (f

Yuwl plas (Thiessen) (o pdaw s aais b oud o 98l 31! 0 30t

logys pe ()

s Blod gl IS5 g plasali (Y

Lo psSaly a2 o] e ;3 o Sy ke ki (F

o bl sl Sijgo )0 0ol oty olais! She s alatas (F

-\#

-y

-1WA

-4


https://saednews.com/

saednews.com

Y+ axio S801A (NeY) 05 = oLl i SleMb! gl 3 539 31 lxiuw

3 P2y cdr C A S oy bypd & a2gi U () 5 (W) g w XOR 511 Jlesl 29,5
fowwl plas «as 30 F galue

MR- E C|C|cC
Y| Clc|cC
Y A A A
i () S e (&)
o 0 o \ 0 o
\
\ ) Q g o o o (
0 \ \ \ \
o] o Q
\ \ \
\ Y| o
(f o0 o | (Y
\ \ \ - :

Olpuadi g1 (ko (5w LS I ooliwl b Jlw Vo b b B Ol owyp sl
fown! poawlin g o Slos plas o S luca

Zonal (f Local (v Global (v Focal (\

B 4 A ahil I gaaw; 'y 2l 4038 (0 S 800 (LIS 1) Joke 58 51 jeae 438 jlake (g yy &Y
A (Vkmx\km Jolw slul) ‘s
Ao (A

Yo VY (Y
Yo (¥

Vo \Fo (¢

\[*}

Tl (Gl paiin S 51 (2l S5 4z ouliS by o Sill g Nugget o1 51 5l5 cous S5 50
Sasach &l i Sill § GaselisS” ol s Nugget (A

Sl yeais  Suseldl lime Sill § ol pis s sazis L Nugget (¥

Slpeis Lol 09, a5 bgyye Sill g &lynis Jdolas tow 4 bgs e Nugget (v

wlad Ll b dolai iou Sill 5 olad sl ea Sola iow Nugget (F

2,00 (5 ytewy aladail v ) Connily b 4l wladio (555 0) (g yo p gua peinmnans I s plaS 50
sed ax 0 Yo b lgzul opn (Y &ylas ax 3 Fo VL ()

s e YL (F 3 bl e fygal g (F

—\Y.

-

-\rY

-\rr

-\Y¥


https://saednews.com/

saednews.com

YY) axio S01A (NeY) 05 = oLl i SleMb! gl 3 539 31 lxiuw

Yol Cwwys Quantile breaks ¢ Natural breaks L bools suidib paas )0 3,50 plas

D94 g0 o3lizul (Ratio) s 5 (Interval) slojb sloesls sl by, 90 52 ()

ol glad; slaesls ! Quantile ¢ glosb sloosls gl Natural breaks (Y

s B S s (Sglae (sloalold Lae Quantile o g oKl ;) ladises alold « Lae Natural breaks ;s (v

3 oeSilee asile (5 lel sla 2ol b jLas Quantile breaks s g ls M5 slaw . Lo Natural breaks s (f

@ldyy 4230 9 yeS 5L 9y00 loj ool Cluwlxe (Resampling) saze (5,1 paiged by plas )0
S o0 i (DN)
Nearest neighbor (v Bilinear
Linear (f Cubic convolution ¢
Dalh o 0030 nliay £ 9 A (5l Alie slazes Job 0 (Emissivity) sdald g Ol i 3 JS5 50
A fadlelas by fllgy ol
AN (lf)
O/QA"' (.‘_')
la‘ /
T‘,) "‘/‘v-l (t)
. 0/‘; "
OIQA"
E oAFd
T T T T T T 0 >
A q Ve " Y \Y \'¥
( ooy y5ue) oo Jobo S (7) - (aLS idg (&) - i) (&) ()

S (@) - p5120 AL Lla () - o512 yud aLS 2ty () (Y
P51 pee (BLS Sy (7) - o515 (2L Al (0) - 3 S () (F
AL g SB () - o512 (LS Sy () - o520 8L 2ty () (F

CUGS o (5 et 4 (Salinity) 5,98 Sl b weildl OT (Refractive index) LGl a3l
Bgdge oL (¥ Sy S ()

towwl (Reflectance) Soili il pumo s poi alos plas

o lanls 45 saw; (555 Jladae ()

> | 00l Sae (55,0 jlada (Y

e 41 (59959 $551 4 el 00D pSate (5541 ke (Y

> S 0bap>d (655! 4 o)lsale & oudoanw) (550 Jlaka (F

o9 o0 slazati 4 4 yxie slojlgale pglai p Sl il Jlesl

Sl i85 als” (Y pe Sd> ()
o2)lee sRan ol (F e S O ja8 g 1hEl (Y

-1Yd

-\Y#

-\Yy

-\YA

-ra

~\Y.


https://saednews.com/

saednews.com

YY axio S801A (NeY) 05 = oLl i SleMb! gl 3 539 31 lxiuw

S gly  gaaidb o paslsrs ST glojlsale palal 59) p Jlda! JiSTas sulisla guaaid 3 T
S IS (2SS (32 yidg oS (rants ((BLS gy Sha) oS
Standard Error (Y Omission (\
Overall Accuracy (f Kappa Coefficient (v

=L e L sud guuaib p gmai S (Confusion matrix) ol w yls yu ) Joues 51 1YY

P! plas X jlads (bl ae o Ao (Overall accuracy)

of | Ol | s
S| YY [y | v
W | e X] P
S| 6 | Y| FF

Y (f Yy (r Yo(r 11
ol andidd g )l> pabai (59 1y Bl Lol olei g0 bT ity iglisa > 95 (Emissivity) oadnis olgi 51 -I¥Y
S il | sl g o ol Sl L o el 693518 adnis g sals ()
ol Sglits Lodass auay 93 gatal (g5 1 aale (¥
D15 (Ko 3 layl B glas & adiati (g psgdleosny g0 anteds (s (Y
ol Gl e sisy 93 dat Olei sy e (F
33,5 o0 sloylgnle polal ;3 vuds Cygots byl (ol all Ll (532 Ay plas -ITF
el e (F S (Y by (¥ sk (A
sl plaS (e oty (5 2 SSE sl ()l 308 H90ke )10 p gl Gloj (o Fnlial -1TD
A5 O Koes b beaay 206 les sla Zovia ()
Sl alla ]y Cgse g pelb Aa 5 (s BOS) alold o i leasay b sles sls e (Y
Al Cull Wossay L glos Ol peis  ovta (7
A3l (293 5l Ol 5l i 53958 S5 Olee e (F


https://saednews.com/

BOIA | (1+F) S = oLl i SO ptamnns 3 539 31 Shins



https://saednews.com/

BOIA  (111) & = Ll iy SNl pmpes 3 89 5 s



https://saednews.com/

